
2002-2008 DODGE RAM STD/QUAD 
DRILLING INТO BODY AND FRAME IS REQUIRED. 

CABS

1 ТOOLS REQUIRED: 5/16" DRILL * 1 /2" НЕХ SОСКЕТ * 1 /2" WRENCH * 5/16" NUT DRIVER * 3/8" NUT DRIVER

YOUR ВRАСКЕТ MOUNT HOLES WILL NEED ТО ВЕ DRILLED INТO ТНЕ BODY 

G) 

,..�1 • 
1 1 

1 � ,'1 1
1
10 � 

7 
/ 37" 65 11 

/ 
/ 46" NOT USED WITH STANDARD САВ 

/ 1 /AN/ 

MEASURE FROM FRONT WHEEL WELL ТО ВRАСКЕТ LOCATION 
MARK THIS DIMENSION ON ТНЕ PINCH WELD 

ВRАСКЕТ ASSEt.lBLY 
ASSEt.lBLE WIТН 5/16" BOLТS &: NUТS 

n =с:::,= 
е 11----� 

�----� 

(DRIVERS SIDE SHOWN) 

t.lOUNТ ВRАСКЕТ ASSEt.lBLY ТО BODY 
WIТН 5/16" BOLT, NUТ AND 
#14 SELF DRILUNG ТЕК SCREW 

FRAt.1E 

DRILL А 23/64 HOLE АТ --­
ЕАСН ВRАСКЕТ LOCAТION 

#14 SELF DRIШNG SCREW 

5/16" BOLT &: NUТ 

t.lOUNТ АТ LOCATION SHOWN АТ G) 

https://www.carid.com/owens/


@ 

® 

® 

2002-2008 DODGE RAM STD/QUAD CA�S��� 
DRILLING INТO BODY AND FRAME IS REQUIRED.

**ALUMINUM BOARDS ONLY** FOR 

PLASTIC BOARDS GO ТО STEP 7. 

FOR ЕАСН ВRАСКЕТ 
SLIDE ONE 1/4" Х 5/8"
SQUARE HEAD SCREW
INTO ЕАСН TRACK, 

о 

SECURE BOARD ТО ВRАСКЕТ
WITH 1/4" NUTS 

WITH BOARD LEVEL TIGHTEN
ALL LOOSE BOLTS 

REPEAT FOR OTHER SIDE

HOLD ТНЕ BOARD IN PLACE WITH IT
RESTING ON ТНЕ BRACKEТS. 

ВЕ SURE ТНАТ ТНЕ 1/4" BOLTS ARE PLACED 
INТO ТНЕ SLOTS IN ТНЕ ВRАСКЕТ STEP SUPPORT

(J) 

о о 

...___\___.__#14 Х �" SELF DRILL SCREW

FOR PLASTIC BOARDS, APPL У FOAM 

ТАРЕ AND STEP TREAD ТО BOARD. 
АТТАСН ТНЕ BOARD ТО ТНЕ BRACKETS 

WITH SELF DRILLING SCREWS. 

Choose reliable running boards offered on our website.

https://www.carid.com/running-boards.html

	IN379 1.pdf
	IN379 2



